Subtracting Integers (G)

Name:
—43 — 32 =
38 — 26 =
—32 — =36 =
50 — 30 =
40 — —29 =
29 — 40 =
—46 — —39 =
44 — —41 =
—45 — 29 =
—34 — 46 =
—37 -39 =
2 — —47 =
—46 — 29 =

Date:

Calculate each difference.

20 — 45
—40 — —50
1 — —26
17 — =26
—32 — 49
—39 — 28
39 — 50
—38 — —34
26 — 46
—43 — —32
—31 — 40
43 — —39

Score:
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Subtracting Integers (G) Answers

Date:

Calculate each difference.

Name:
—43 —32 =-75
38 —26 = 12
—32—-36= 4
50 —30 = 20
40 — =29 = 69
29 —40 = —11
—46 — =39 = —7
44 — —41 = 85
—45 - 29 = —74
—34 — 46 = —80
—37 -39 =-76
—2— —47 = 45
—46 —29 = —75

20 — 45
—40 — =50
1 — —26
17 — —26
—32 — 49
—39 — 28
39 — 50
—38 — —34
26 — 46
—43 — =32
—31 — 40
43 — —39

Score:

—25
10
27
43

—81

—67

—11

—20
—11
—71

82
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